EARAZROREIERT — 2 N—XBISY —F 2016548220 (£) 2@ AKFH5H

12R IXE IR e B R
[A&4£] 1 7% :2,300,000 @ 23 :920,000 @ 3 3&:575,000  ~ 4 3#&:345,000 @ . 5 7 :230,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
s = . )| FHh 1:28. 1-1-1 . - 12 497 | FEAME (I#E)
1 20137 JRT 1y F s 5E4.0 (_8)3 %.0 :3) #?EE@?-
R/ KT vyy Bidyp—4r bl ESitie]
. . . EKHEC 1:28.4 2-2-2 7. = i 4 BEEEE (KH)
N . P RAER: R i G e ol
XL THANAN B:IYLICTLT BIHBE
SN = S A 44 | AlEEE 1:28.7 14-14-14 |36.4| — 2 476 | AR (K3#H)
38|14 E>T APE Sl 56.0 A 1/2) 2 | A Ty
x> NygHhT71r Biky hx2R AR RS
S Sy Sy i 4 5 | AHESE 1:28.7 5-4-4 [37.7| — 8 488 | LEFE (viR)
41111 eyl x 56.0 (NF) (o) | (A) ABEE
R:/KS vy BiITINY—< HBEHAF—T I
s = s HEIETHHE 1:29.1 -8- 7. — 24 | FREEAE (KH)
5 3 RARIWNVT 7 Z7F > 75 56.0 (29) 9-6-8 87.9 3 <5+2) KaF
R:OAO-J X144 B:v1xE21—)L EviLy RT7—L4
N N FOEGEA 1:30. -8-7 . — 47 KEEM (KH)
6l5/glEFLT 8 S i R ° | e | ez
/0704 BRE2—ATTa1Z/8— NSRS
it 5 | mEY 1:30.0 4-4-5 |39.0| — 4 439 | IBE=RE (KH)
7\2|12| FF/EAE— 54.0 (7€) Lo |BBRETF
RTUHAZIILF B 7YY RED Y B HE

o e B 4 | PHEE 1:30.1 6-4-6 [39.1| — 5 453 | LIZ (AviE)
Eﬂ 5 hHI—2 2 54.0 (3/4) (1) RHl—

L:Nd B:o—-3>nE-N BENHUS
3 . 6 | EWEER 1:30.1 3-3-3 |39.5| — 9 476 | BEER (KH)
9|57 | FARYH 54.0 ) e | &) nTr-n
L ZANAF 21— BYLITT4—% PS¢
5 =no op B4 | BEEX 1:30.1 10-10-12 [38.5| — 7 493 | SEILBSIE (AviA)
10l 13| #—7 ~AFa— 54.0 (nF) Lo | EBES
RTANKET Yy BUGr)—H—F BAT 7 — L

5 SR 4 5 | THF 1:30.2 11-10-10 [38.6 | — 14 529 | #ZIUEESE (K#H)
EH4 J7IVRYL IR 56.0 (7€ BERIE—

L2z T A =T7—K—F BILFTAT47 #HET7—L4
1217/11| ZE v I~75/_ i ‘ H 7 é“éé_ﬂgf% (173;72) 11-10-10 | 38.6| — | 11 f—ozo) g?’gé (I11i65)
WA SaE—F— BiTEYKTrAv— 75> R
19| TX1Yx=— ‘. 4 ﬁ{l(l)%ﬁfr (11;310/.25) 13-13-13 | 38.5| — | 13 (42)0) Egﬁé@sk#)
I NA T A—h— B:TILZX i —%
1Mo 7,.7:_7,‘/:/7,‘ ) o4 g%ﬂ;ﬁz% 1:(3;).5 8-7-9 |40.3| — 10 (5+160) T%g?ﬁ;:/(ét?{/h
:77v 944K B:IXFIL FEEFH5
@ 11— —EBIRfL
13—7-—
23—F— |2,6,7,12,1,(5,8),10,3,13, (4,11) ,9,14
J=7"= 2,6,7,(1,5,12),10,(3,8),(4,11,13),9,14
43—7F— |2,6,7,1,12,5,8,3,10,(4,11),13,9,14
[ JE/N=5
BB 2 13,190 | [ 74 K 2-6 4,290/ | | B = 2-4 9,460M | | 3E&E 2-6-14 17,020/
% B 2 1,430M 2-14 6,360 B E 2-4 28,610 JEH 2-6-14 244,620
6 120M 6-14 210 | | & = 2-6 16,920
14 150/ B H 2-6 67,4304

ABICOVWTRDTEEERROODE. TR LIV,



